H £ 0l & AF & S

20258 = =0llah LS| XIZAICHE A

Al A

FA NSAE A
B OIDEY(UNDRHE/UYHE)
chel: olpE LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KLAIHE A 8,822,504 5,278,374 3,544,130
= 929,900
Al 7,892,604
QIRHAM (LSS /Lol Y) 7,414,120 3,451,580 3,962,540
== 599,900
Al 6,814,220
ey 7,414,120 3,451,580 3,962,540
< 539,900
Al 6,814,220
Nedisgn=d 10,000 10,000
201 er23 | 10,000 10,000
01 At2teltl 10,000 10,000
OMsd s2= X
10,000,000& » 14 10,000
QIR SIHAI XA 2,384,500 2,384,500
301 EtE2 NS 2,384,500 2,384,500
14 0Bt 2a3 2,384,500 2,384,500
OXIS AT et et dXI2
1,052,500,000& *14] 1,062,500
OXIHAT DSaM o srRZBeel 4= A
HA et K& 800,000& 540 432,000
(OFSE=IONEEE=) 300,000&*3,000& 900,000
(D)XEESE HIX =221 5|L0IS ALY 85,000 70,000 15,000
s 25,500
Al 59,500
307 @I2t01 & 85,000 70,000 15,000
& 25,500
Al 59,500
02 IHB A HE L 85,000 70,000 15,000
OXISE3td HIXt 32018 At
85,000,000& » 14 85,000
= 25,500
Al 59,500
(D)XEESHE HIX 2= B =HXI 48,000 66,000 18,000
=S 14,400
Al 33,600
307 21201 & 48,000 66,000 18,000
< 14,400
Al 33,600
02 2B HAHE L 48,000 66,000 18,000
OXNS St HIAF 2/=0l d& =X
48,000,000 * 14 48,000
= 14,400
Al 33,600




2A:

KIShAICHE 21 AL

B OIDEY(UNDRHE/UYHE)
chel: olpE LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ey =& 94,620 3,315,580 A3,220,960
201 er23 | 30,020 23,980 6,040
01 At2teltl 24,300 18,980 5,320
OQIRmM EH(TV, il &) M
10,000,000 * 14 10,000
OOIPE 9@sl g
100,000& 10 32! 3,000
OUTHM OL0ICIOf BRH MARIH &g
100,000& x4 400
oitsogd e 900,000 *14] 900
OXNZAZUSII= FAAE NSHH
10,000,000& * 14! 10,000
2 S22l 5,720 5,000 720
OoRZANS N2+ YE A F&
= 5,000,000 * 14 5,000
OO0 g d dJies
60,0003 * 122 720
203 HR=AH] 5,000 5,000
03 A=A PR FZ| 5,000 5,000
Oel8H & THAIN SF=8H|
5,000,002 14! 5,000
207 PN 38,000 10,000 28,000
NEEEETT 38,000 10,000 28,000
OOIRHY ZRAY HE+Y B
20,000,000& » 14 20,000
OYxs MEOIT MLy U B wot
A= 18,000,000 * 14 18,000
301 EtE NS 1,600 3,241,600 A3,240,000
14 0Bt 2as 1,600 3,241,600 A3,240,000
Oel7E 2 Ot0ICIol S2& 21201 L= 1,600
—e 700,000& x1H 700
— x4 500,000 *1H 500
—ddd 200,000 2 400
308 AFXIEMSOIE 20,000 40,000 220,000
183 S 2SS B XA AIE 20,000 40,000 220,000
OogH Z2(1V, it S)
20,000,000 * 14! 20,000
QR HME PFH(ANLYLEUSIIS) 40,000 40,000
207 ARl 40,000 40,000
01 H1E4H] 40,000 40,000
OQlg=sE 282y & 2 +8
(20238 NEAZUSIIS)
40,000,000 *14] 40,000
NSEHE2 e 4,072,000 4,072,000
201 er=23y| 10,000 10,000




2A:

KIBAICHE zH AL

I
QIPH (UL D RBE

Ha: SIZTHE/UBHT)
e k=)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 10,000 0 10,000
ONGBEIE X4 A IR S0 L MR
10,000,000 » 14 10,000
401 AIEHIX R0 4,062,000 4,062,000
01 A28l 4,062,000 4,062,000
ONEHEI2 T8 BYRT B4
2,000,000,000& *14] 2,000,000
OXSe=E2 =d dANEH S 89
2,062,000,000& *14] 2,062,000
IRZAXIY DAY SUESML(NLAZUHEII2 60,000 0 60,000
)
307 el2to| & 60,000 60,000
08 OIXt2d = 60,000 60,000
OQIRZAXA JIGX S ES A (2023
ANeEAZUHSIIZ) 60,000,000 * 14! 60,000
(S)CHRHEI e s 2R U X 120,000 0 120,000
[ 60,000
Al 60,000
308 XXM SOIA 120,000 0 120,000
= 60,000
Al 60,000
18 SIS0t oA AS A 120,000 0 120,000
OUXNAIE s+dt2 PR
50,000 2,400 120,000
= 60,000
Al 60,000
(D)X R2HELR ZHAY 500,000 0 500,000
[ 500,000
401 AIEHIX R0 500,000 0 500,000
= 500,000
01 Al&H| 500,000 0 500,000
OXNSE=Ez2 &d dAEH S 89
500,000,000 » 14 500,000
= 500,000
NEotse® RSAIH(AY - SAILLUUX/AHES 1,257,000 1,653,000 396,000
nkeso)
< 330,000
Al 927,000
KL AILHAIS 242 1,257,000 1,663,000 396,000
& 330,000
Al 927,000
(BHAMSALESE XAS3MY EHE 75 29 345,000 28,000 317,000
307 elztol & 345,000 28,000 317,000
02 2B YA E X 345,000 28,000 317,000
OZE=ALA 345,000,000 * 14 345,000




2A:

KIShAICHE 21 AL

A NSOtsLd RNLAIU(AY - SAINLLUEX/MHEE - DES})

Rl XIZAICHANE 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(2)EIESTHIIsEIIUS 170,000 0 170,000

= 50,000
Al 120,000
308 AXIMSOIA 170,000 0 170,000
= 50,000
Al 120,000
183 S| 2SS ZB XA AIE 170,000 0 170,000
Od= gsddllIstal
170,000,000 * 14! 170,000
== 50,000
Al 120,000
(D)Xt AAE e SEstern HAXI#AIY 500,000 500,000 0
= 250,000
Al 250,000
308 AHAIEMSOIH 250,000 0 250,000
= 125,000
Al 125,000
09 XIS tistoll CHet BaEx 250,000 0 250,000
OXNSuH AAE e Sdatetit HAIK
A 250,000,000 *14] 250,000
== 125,000
Al 125,000
403 MR SMSAH=01H 250,000 0 250,000
= 125,000
Al 125,000
04 XIS0Hsrol ciet tEex 250,000 0 250,000
OXNG A AAE s Sdatsl HAlXl
A 250,000,000 * 14 250,000
S 125,000
Al 125,000
KUAIEl Z2RE(AIZ-1HE-1E43) 12 2L AR ( 140,000 1,060,000 A920,000
e EERED)
308 XtXIEMSO0IE 140,000 140,000
13 S [2S0tHet 4 A AS A 140,000 140,000
OHINE UAIEI NISS3DIE REE o5
A 140,000, 000%14] 140,000
CE4HIIB RS 2,000 2,000
201 er23| 2,000 2,000
01 AtR2t2|HI 2,000 2,000
OEESENRaTY ot HXIE £X
100, 0003 *157H A 1,500
O=ESENRTS ol &40 M=%
50,0003 *109H 2 500
(S)oH LU |BR =R 100,000 0 100,000




A NSAHEHA

ZH: SSLE UYAH(LY - B4 SLUUT/HLTE - DESH)
Rl XIZAICHANE 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,000
Al 70,000
207 ARl 100,000 0 100,000
= 30,000
Al 70,000
01 H2E4H| 100,000 0 100,000
Ol st ISR 2L MY EES
100,000,000 *14] 100,000
=S 30,000
Al 70,000
FMEOH L3/ Lety) 69,600 89,826 N20,226
=y 69,600 89,826 N20,226
ANEEIt 2E 10,440 12,000 21,560
201 et23| 2,700 11,160 28,460
01 At22te|Hl 2,700 11,160 A\8,460
OAlgl AIZEote 23] il
1,500,0002 %14 1,500
OAIZI AIZEIIEHS MA
20,0003 +60 1,200
301 EtE NS 7,740 840 6,900
11 dAMEEIXIZE S 540 840 A300
OAIZL AIZE O 2te3l FItF db|2d
9,000&+60E *13] 540
14 JIEt2 a3 7,200 0 7,200
OAIZl AIZEOIE Eot=d 7,200
—&DJ180t 30,0002 60 *23] 3,600
—=AIEO} 30,0002 60 23] 3,600
SgdtEL 29 58,760 77,126 18,366
201 Ler23| 49,560 25,926 23,634
01 At2teltl 49,560 10,986 38,574
OSSd HEINAY Zcte| AU A & 8t
= JIet 22,000,000 x 14! 22,000
OSSdtEIt A SFAIEI 2L e
2 35,0002 x1302+23] 9,100
OdHEIIRIAe #A4¢
100,000 *7& *43] 2,800
OSSd HEINAY FA 21
1,305,0002 122 15,660
303 Zal= 9,200 9,200
01 2= 9,200 9,200
OSgd 8l 224 Ald 9,200
—A&A 6,000
ESES 2,000,000 *12 Al 2,000
F 1,000,000 x2=2 Al 2,000




2A:

E M

KIBAICHE zH AL

I
MIHE ) (UBD DA /s

cHel: =} (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
e 500,0002*35 Af 1,500
o 500,002 1= Af 500
—sos 3,200
ESERS 1,000, 0002 * 152 A 1,000
c2% 500,002 25 Af 1,000
S 300,002 *35 Af 900
&t 300,000 * 12 A 300
Qe mIIR2 400 700 300
201 B2 A Y| 400 700 A300
01 AlR2t2lH| 400 700 A300
OANREINERSSHI}) ALFH 240t
HI= 60,00024+53] 300
ONZEINHLSSEI}) PRFH AIRE
= 79 100,000 %14 100
ST 2 A (XILAICHE A (DIEH/IIE}) 81,784 83,968 ~2,184
J|=2H| 81,784 83,968 2,184
|22 81,784 83,968 2,184
201 B2 A Y| 25,504 24,328 1,176
01 AlR2t2lH| 25,504 24,328 1,176
O=AEX 2AHI(M IIE)
20,00021%148t Ax 122 3,360
OS24 9,0002 #7401 1424+ 122 10,584
OYdtssa 10,0002 % 122 1,200
OARD AT 50,0008 * 122 600
OARD 24H| 8,080
—=ZADI(UHE) 22
1,000,0002*1CH 1,000
—TRIED| 2l
100, 0002 *4CH50/ 100 200
—=AD| £l 200,00021+53]* 1CH 1,000
—IEIEDI(EW) EY
200, 0002 *55] *4CH 4,000
—TRIED|(Ze) EU
200,0002 %55 1CH 1,000
—pC 22 10,0002 * 14TH+20/100 280
—JIEr2l| 50,0002 * 122 600
OJIEH AFR22IH]
10,00021% 142 * 128 1,680
202 OiH| 52,080 55,440 /3,360
01 2ol 52,080 55,440 £3,360
OBLHOIHI 20,0002+ 145+ 122+ 122 40,320
O2+2l odH| 120, 0002 * 1424+72 11,760
203 AR =X Y| 3,000 3,000
0 BA2YAREAY| 3,000 3,000




2A:

KIShAICHE 21 AL

M HAM2HAHI(KILAIHEA) (DIEHDIIE
oel: D23l (Ete &
A - HB . GI(BI) - HIRAE - BAS ol & Les Bl S
ORM2IgRF=A
250,000 123 3,000
204 P AH| 1,200 1,200
01 MG AH| 1,200 1,200
OXUZ R AY| (KL AICHE A F)

100,000& x 12+ 123

1,200




